Example that combines geometric, algebraic and potentials approach to
finding fixed points and their stability

Find the fixed points of dx/dt = x(1-x) and classify their stability using
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the three different approaches

(1) (esmenc




‘W

Oj)' onfels d _ _—qV

ar  dx

Lo - q((-x)= x -2t

wd b Hud Vi) sudn fab —dV = o 52

Cubl ¢ J@Cﬁd\/\ ,, mﬁ?«fi’ 271 (;axhue

A

V(1) hos o dake ot o a0,

a Alud oot b x=Yy

WV o —xeql = x(x-1)

Ty

h 4

locl MO%/W/\ ot =0 oy =|




A \»7
d[\\\@\.wd}/‘
v A4
Ny



